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W5k 218 (IAAD (EMSIW ZIRAACBERIME T T, B AR R 250 P . A A A Mg e PR SE AL S 0 B K
s SR R A IS IR KT, R IR, MR A K.

MEFHE:
NIRRT, BV LIRRES FeC3 /EH, AR GBEEY), ZYFHE 530nm KA KR, A
T 770K/ AT DL SR e £ R R FE 7R 2o W51 GBI 5 2 T ) B Bk Il

B & FA m:
R A OHL AW TR RS . AT TH/ERR . 1.5mL B0 ReE SR EL B /96 FLA.
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R —: Wik 120mLx1 i, 4°CIRAT.

A WE 10mLx1 i, 4°CIRAF.

RA=: Wik 10mLx1 i, 4°CHRTFS

RAWY: Wik 10mLx1 i, 4°CLRTT,

WAL WA 2mLx1 R, 4CEEIRTT.

WA A SomLx1 i, 4CHAF. A AT ImL AR A N RS IR, FiH, BB
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1. A WHIBALFE () RA—EBmLYA 12 5~10 FIELF] CRIHRENZ 0.1g A4, I ImL iR
7)) BEATUKIE I . 8000g, 4°CEI.L» 10min, HY 3B E UK AR,

2. M. HEE: ZEAEE (104 B (mL) 24 500~1000: 1 BIEGA] (L 500 54 AN
N ImL ARF ), VKIS B AR (ThE 300w, A 3 A, [ERE 7 Fb, A 3min); AR5
8000g, 4°C, B> 10min, H b5 B TUK BRI,

3. MESWA: EHEE.

M TEIRAE

1. Y66 /B AR T 30min, AT 530 nm, ZEIEKEE.

2. 6= BRI = BRI E T 25°C (D 858 37°C (ALY K ARIE 20min.
3. B 1.5mL EP 45+, #AERWT:

LI e
WA= ul) 40 40
WA= (ul) 40 40
WA Cul) 80 80
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FEAR FIEW (ulD 40

WA — (ul) 240 200
FATRAIEE T 30°EE/KBH, IR 30min.

SEFR7S (UL 800 800

466 ETHIE 530nm 4k OD {H, FRUEEIEHN A1, MEEFILHN A2

MRS, BT 30°CBRIKGRIEE M 30min. B 1000pl &0 5 L4000 R MK T ImL tbfamdr,

HE: R AR

TAA SUEEMITEAN:

a.  EFIMEA A IMIE M AR T

TAA FRHERTZEAR: y=1.334x+0.025 R2=0.998 (x JIAA WKE, mmol /L; y AWIGIHED
(1) HEARETE

B E S MTHIRI NN (1 TAA Bipl 25 B 5 7 B 1 TAA &5, BIASERE T IEL Y TAA 55

B EI7E Th P ARAR Ik 2R B R sl 6 ) K71

U (umol/h/mg prot) =[(A1-0.025) +1.334-(A2-0.025) +1.334] xV £+ (V #xCpr) =T
=1.5x (A1-A2) +Cpr

(2)  HEAEEEIH

BEE € e VAR g FEASTE 1h 943 fRDIIR (1051 e 218 B R 0 K/

U (umol/h/g #EE) =[(A1-0.025) +1.334-(A2-0.025) +1.334] xV FE+(V ¥E+V FEEXW) =T
=1.5x (Al-A2) +W

(3)  #AUMACE T

BEE € S VAR 1 T3/NHMIAE Th P2 AR IR RIS I W 1% B 3 s BE R

U (umol/h/10% cell) =[(A1-0.025) +1.334-(A2-0.025) +1.334] xV FE+(V FE+V FEEXW) =T
=1.5x (A1-A2) +4iffI%E
(4 ERAEAER
BEE € L. DARE mL BRVRAE 1h P9 53 AR RG] R 2 1R B 3 /s g V% 1 K/
U (umol/h/mL) =[(A1-0.025) +1.334-(A2-0.025) +1.334] xV FE+(V =V FEE) =T
=1.5%x (Al-A2)

PL%E mg

VR BIEBREAAR, ImL; VR AN RBAR R BIERAAIN, 20uL=0.02 mL; Cpr: _EiEWHE H WK

E’ mg/mL: W: *%:él%)ﬁ%f g T: }imﬂrj‘l‘g‘]’ 0.5h.

AREW:
B ARG H R 9 0.01pmol/mL.



